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o 27 %7323) (ve] @ A9
A+ 7 A I H] I -
24 w9 | A% AvgE  argAme | O v | | =2 SR
1. dukg=84)| 500 500 0
2. Qe 7,006 8,006 -1,000
1.8t u g 1A 9 7,006 8,006/  -1,000
1. 5890 7,006 8,006/  -1,000|ZSEEY -100,0009] < 103]= -1,000,000
4,350 A 23,200 2,200/ 21,000
1. %874 )4 23,200 2,200( 21,000
1.PCF 3,200 2,200 1,000
1HIE TS A 3,200 2,200 1,000 :‘fﬂ@qa)gz‘ﬂa 1,000,000¢1 <1 1,000,000
2. (FA)AFHA=THANA 20,000 0 20,000
1.dukg=89)| 3,400 0 3,400 (A BA)ZGEoIA T 2,900,0009 X 12]= 2,900,000
ZY LA F  500,0009 X 12= 500,000
2,305 ) 5,200 o 5,200 ééf %éfji ;g’ dadel= 5,700,000
idjrﬁ o], gIgel= -500,0009 X1 _500,000
x)=
3 HIE T H] 11,400 0 11,400 fﬁf;;j)_ﬂl%?ﬁ@wm%) 1,425,000 11,400,000
< o~
6.0 A 138,060 116,926/ 21,134
1.3t 7] &< 31,361 30,900 461
15471889 23,394 23,394 0
1.4 6,744 6,744 0
1.9k 1,000 1,000 0
2,097 4,400 4,400 0
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1.dukg89) 4,450 4,450 0
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4. AWk S0 400 400 0
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1.dukg=§9)| 720 720 0
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1.7]1 A1 2 921 2 H) 20,200/ 20,200 0
2. W81 8,535 4,230 4,305/ A1 EA2SA 861,000 X53]= 4,305,000
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=
5.°HF 7514 3,200 3,200 0
4 AFFSATE 7| A (7 &) 19,168 18,300 868
171 A k4 1709 17,168 16,300 868 H Q1] 868,000 < 17= 868,000
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